
MNM 3709
Self Assessment Questions

Study unit 1 - The Nature of Strategic Marketing

1. Identify the various strategy levels in an organisation.
Corporate strategy - The organization's sense of purpose. 
Business strategy -  Managing a specific division or business unit.
Market strategy - The marketing management's contribution to formulating the business strategy.
Functional strategy - is equivalent to the marketing strategy. 
SG pg 3


2. Explain by means of practical examples the functioning of SBUs
SBUs are distinct businesses set up as units in a larger company to ensure that a certain product or product line is promoted and handled as though it was an independent business. SBUs direct their product offering at a particular market and supervise the manufacturing, distribution and marketing communication with a degree of autonomy.
TB pg 10

An example would be Pick n Pay, they have many SBU’s such as hypermarkets, supermarkets, family franchise stores, butcheries and financial services.
SG pg 4 



3. Explain how strategic marketing management and retail marketing management differ.
 
	Differences
	Strategic marketing
	Marketing management

	Mission
	Deals with the actions of the SBUs
	Deals with marketing activities of the specific SBU

	Nature of job
	Necessitates a high degree of originality and innovation
	Necessitates maturity, familiarity and control

	Leadership style
	Requires a practical viewpoint
	Requires a spontaneous viewpoint

	Orientation
	Inductive and instructive
	Deductive and logical

	Time frame
	Long term
	Day to day

	Decision process
	Mainly bottom up
	Mainly top down

	Organisational behaviour
	Attains synergy between various components of the organisation, both horizontally and vertically
	Pursues interests of the decentralised unit

	Opportunity sensitivity
	Ongoing
	Ad hoc

	Relationship with the financial function
	A close relationship is sustained
	Relationship is less clear

	Relationship with the environment
	Environment considered ever changing and active
	Environment considered stable with infrequent instability



TB pg 12


Study unit 2 - Analysing the macro-environment

1. Discuss the characteristics of the macro-environment. NB Nov 2010 exam

The ever changing nature of the external environment
The external environment is dynamic, resulting in an environment that is prone to regular transformation due to unlimited sources of change. The fact that this environment is not controllable and very temperamental makes it difficult for management to monitor, let alone keep up to date, and to predict and understand future occurrences.

The impact of external forces on the external environment
The magnitude and size of the external environment and variables in this environment may result in management not being aware of warning signs that change is taking place and there may be a possibility of major events until it has happened. 



The overwhelming state of external variables
A business or organisation has virtually no power or influence when it comes to forces that impact the on the organisation in the external environment. The best management can hope for is to be prepared for any eventuality, to have plans in place to reduce the impact of such changes or threats and to turn threats into opportunities for the organisation.

TB pg 18

2. Explain, by means of practical examples, the impact of the dimensions of the macro environment on a business.  NB Nov 2010 exam

The technology dimension
This dimension is affected by innovation and change. For example, new manufacturing
processes and new technology may influence the type and quality of clothing being
sold by Mary Jones. Just think of the new types of material available, such as those
combining natural and synthetic fibres to create crease-resistant material.

Technology provides opportunities and threats, which impact on society to a greater or
lesser extent. Recognising that the impact of technology is inevitable, therefore, the
marketing planner should pay attention to the following areas:
- the accelerating pace of technological change
- unlimited innovation opportunities
- higher research and development budgets
- a concentration of effort in some industries on minor product improvements
- a greater emphasis on the regulation of technological change

Governmental or legal dimension
The political or institutional environment, should be a particular concern to Mary Jones. Her business has to be aware of the laws and regulations that regulate business, as it has to abide by them. One example of the effect of this variable would be the surcharges on imported material, since these will directly influence the selling price of the clothing in Mary's boutique.

Economic dimension
The economy is probably the best known dimension of the macro-environment.
Changes in the economic conditions of a country affect all consumers and businesses.
An increase in the inflation rate, changes in the exchange rate and a higher rate of
personal tax are examples of how the economic environment may influence Mary's
boutique.

Social/cultural dimension
The social/cultural dimension is strongly influenced by the economy and technology.
Social trends directly affect the marketing strategies of the business as they determine
consumer needs and purchasing decisions. These trends include cultural values and
subcultural influences. A decline in the population growth rate may ultimately have a
negative impact on sales of trendy imported clothing. The changing role of women in
society, for example, women in full-time positions and more career women, may be a
positive influence in the case of Mary's boutique, and may result in higher turnover.

Demographic dimension
Some of the demographic shifts which are taking place throughout the world are:
- an explosion in the world's population
- a slowdown in birth rates in many of the developed nations
- an ageing population as advances in medical care allow people to live longer,
     changing family structures
 - higher levels of education and an increasing number of families in what has
- traditionally been seen as the middle class
- geographical shifts in population
- a growth in the number of commuters and people working at home
With large numbers of people moving away from the CBD to the suburbs, Mary Jones's boutique might be very profitable.

International dimension
Businesses operating in the international business environment find themselves in a
much more complex environment, as every country has its own particular
environmental factors. South Africa is part of the global village. As such, our economy
and its businesses are directly influenced by the economic troubles of eastern countries,
for example. Mary's business may benefit from a better exchange rate, enabling her to
import her clothing at a cheaper price.
SG pg 10





3. Discuss in a practical manner how a high inflation rate will affect the Marys boutique.

Inflation affects consumer spending, credit lending and economic growth, therefore as the cost of items rise and salaries stay the same people will have less money to spend. As people will prioritise spending their hard earned money on needs such as food, rent and petrol, not much will be left for spending on luxuries. Therefore the boutique will be affected negatively as there is less money for people to spend so they will not have as many sales. Also the cost of buying the products for the boutique as well as rental cost will also increase and add the cost of selling their products which could put the product out of reach for the already cash strapped consumer. 
From my head

4. Discuss two cultural changes in South Africa in recent years that have had an impact on business.

Women are a more prominent force in the workplace and are carving out careers for themselves.

People are more aware of living healthy so companies have to adjust and account and cater for it.

5. Explain by means of practical examples, the four stage process of strategic environmental issue management.

1. Environmental scanning
- The irregular approach
- the regular approach
- the continuous approach 
2. Key environmental issue identification
3. Impact evaluation
4. Response strategy formulation

The irregular approach / ad hoc method
This method is used when an incident takes places that could directly affect the organisation. An ad hoc report is drawn up based on the investigation of the event in more detail.


The regular approach / Periodical approach 
 This method is used to routinely or periodically to provide up to date studies to management about events that would be of interest to them and the performing of their tasks.

Continuous method
In an attempt to enhance the strategic planning, this method requires constant assessment of all key environmental factors that could affect the organisation. 

Study unit 3 - Market Analysis

1.       Explain how Porter’s Five Forces Model of competitive forces can be used to analyse the competitive structure of an industry. NB June 2011 exam
 
Porter’s Five forces model presents a viable tool that can be used to assess the organisation’s current position in the industry as well as the level of ease at which potential competitors can enter the market.
 
1.       The threat of new entrants: An industry is viewed as more attractive when it is difficult for new competitors to enter the market. New competitors may not have the necessary budgets to fund all the start-up costs involved.
2.       The bargaining power of suppliers: The bargaining power of any seller is dependent on the economic principle of supply and demand. If there are large numbers of buyers in the market, the seller can charge a higher price for their product. New entrants into the industry may not be able to afford these high prices.
3.       The bargaining power of buyers: If there is only a small number of buyers in the market and a large number of sellers, buyers can easily negotiate lower prices with sellers. An industry may appear to be less attractive to new entrants if there are a number of competitors in the market already, as they will not be able to negotiate lower prices with the suppliers.
4.       Threat of substitutes: An industry will appear to be less attractive if it would be easy for the customer to switch one type of product for another to fulfill the same need.
5.       Industry competitors: An industry may also appear to be less attractive to new entrants if the intensity of competition between current players is already fierce.
 
2.   Identify and discuss the 7 dimensions of a market analysis a particular company has to consider. NB June 2010 exam
 
1.       Actual and potential market size
2.       Market growth
3.       Market profitability
4.       Cost structure
5.       Distribution system
6.       Trends and development
7.       Key success factors
 
3.       Explain the market attractiveness and the enterprise strength variables of the market attractiveness-enterprise strength model.
 
This model consists of a market grid and is based on the value of return. The market grid is bound by two variables: market attractiveness on the horizontal axis and organizational strength on the vertical axis.
 
Market attractiveness includes a variety of variables. The market attractiveness position is therefore a compound index indicating the relative importance of variables such as:
-          Market segment
-          Market growth
-          Profit margin
-          Competitors
-          Economic conditions
-          Technological changes
-          Socio-cultural changes
-          Action by authorities

Enterprise strength shows how strong the organization is in comparison to its competitors. 

The following variables are evaluated and combined in an index:
-          Market share
-          Profitability
-          Technology
-          Product quality
-          Resources
-          Knowledge of the market




Study unit 4 - Customer Management

1.   	Explain the role of needs and benefits, and also perceived costs, in creating customer value.
 
Customer value: Competitive prices does not always translate into value for customers. Customers will come back to do business with your store if they receive good value for their money. Value is created when customers receive more than what was originally offered. When they are made to feel important, respected, and appreciated.
 
Perceived costs: Customers not only look at the benefits that they receive, they also look at what they perceive themselves as paying. The perceived costs are:
-          Monetary costs
-          Time and energy expended
-          Psychic expenditure
Customer needs: Businesses need to take the time to gather information about their customers’ needs to adapt their value packages to meet those needs. These can include (among others) stocking up on manufacturers brands, expanding on their organic products, adding fat-free products etc. This is then called Marketing Research.
 
 
2.   	Explain the process of customer portfolio management

Customer portfolio management consists of 4 important processes:

1.       Selecting the customer base: It is always advisable to begin with existing customers. Other important aspects are the attractiveness indicators, customer retention, and the concept of a segment of one.
 
2.       Developing a value proposition and positioning statement: The creation of customer value. Important aspects in this regard are the value chain, value proposition, and types of product positioning.
 
 
3.       Determining who the main actors in the decision making phases are: The customer and the decision maker. In the buying center will be the initiator, influencer, gatekeeper, user, decider and the purchaser.
 
4.       Designing how interaction with these targets will take place: Salespeople are important in tailoring the sales message to specific roles and are essential for effective retailer performance.
Customer satisfaction information is one of the factors that can be used to enrich the organisation's knowledge database. 

3.   	Explain the importance of satisfied customers, customer retention management, and customer relationship management in customer satisfaction management.
 
1.       Customer Relationship Management (CRM): refers to the methodologies, software, and internet capabilities assisting an organization in managing relationships with customers in an organized way.
 
2.       Customer satisfaction: Achieving the highest possible level of customer satisfaction is the ultimate goal of marketing. When customers are satisfied with how they have been handled during the purchase, and how the product/service has performed, they are more likely to come back to make additional purchases and to say good things to their friends and family about the business and its products. When customers are satisfied, additional sales will follow.
 
3.       Customer retention:  It is a lot cheaper to keep and hold onto existing customers than it is to try convince new potential customers to purchase goods/services from you.


Study unit 5 - Competitor Analysis

1. Explain why it is important for companies to perform a competitor analysis.
Mike Tyson would never consider entering a boxing ring unless he was completely
familiar with his opponent. Before Tyson entered the ring, he and his agent studied
videos of his opponent's previous fights, his knockout history and, of course, which
blow could be considered his ``secret weapon''. Most retailers do not take this much
trouble to study their competitors. Competitor analysis thus remains a largely ignored
managerial task. By understanding their competitors, retailers can better satisfy their
customers and achieve sustainable competitive advantages. They can identify
opportunities and threats, and highlight weaknesses in competitors' strategies. An
exhaustive knowledge of the competitors can thus influence the strategic thrusts of the
retailer.

Marketing managers have long been of the opinion that they know enough about their
competitors Ð purely by competing against them Ð and that it would be too difficult
to do an in-depth study of them. This preconceived notion has led to competitor
analysis taking a back seat as a managerial task. Competitor analysis has many
advantages for the organisation, and the results will often reveal new opportunities in
the marketplace or identify threats that can be avoided. Competitors are a major
determinant of a retailer's success and it is far less costly to learn from someone else's
mistakes! Remember, forewarned is forearmed.
SG pg 27 & 28

2. Identify the direct competitors for the following companies. Make your own assumptions about their strategies.
N/A for exam purposes 

3. Discuss the steps that a retailer should take when performing a competitor analysis.


Step 1: Identifying competitors
Who are our present and potential competitors? Although the answer to this question
might seem self-evident, it is first of all important to understand what is meant by the
word ``competition''. Competition occurs between rival retailers, such as Pick n Pay and
Shoprite, that produce similar offerings and also between industries like the canned
foods and fresh produce industries which serve the final consumer. Rival retailers and
industries compete for the same consumers' rand and to satisfy the similar needs of
those consumers. Two methods are commonly used to identify direct competitors:
- customer perceptions
- strategic groups

Identifying competitors using customer perceptions means looking at the choices
consumers make. What options or alternatives does the thirsty customer consider
before purchasing a soft drink? The second method used to identify competitors
involves identifying the competitors' strategies and then grouping those with strategies
similar to the organisation's own strategies into strategic groups. The competitors
allocated to one group can be termed direct competitors. The following sources of direct competition:
- competitors competing to satisfy the same customer need
- industry competition
- product line competition
- organisational competition
- brand competition

Step 2: Analysing strategic groups
A strategic group is a group of retailers employing similar strategies and having similar
internal characteristics. Retailers in a strategic group therefore use the same
competitive principles and maintain similar competitive advantages; in most cases,
they will also have similar assets or skills.

Step 3: Analysing key competitors
Any technical analyst will tell you that in order to predict the future actions of
competitors, you need to study their past. This means that you will need to look at
their historical and current objectives and strategies, their strengths and weaknesses,
their strategic thrusts and their response strategies.

Competitors' objectives
A thorough knowledge of competitors' objectives can indicate if they are satisfied with
their current situation or if they are planning any specific strategic changes. Financial
objectives could, for example, indicate their willingness to invest in the industry, while
lofty market share objectives could indicate an intention to expand their current
operations.

Competitors' strategies
Competitors' current and past strategies should be reviewed. Any past strategies that
have failed should be especially noted, because such experiences could prevent the
competitor from trying that particular thrust again. Important opportunities or threats
may be identified in this way. Competitors' strategies should be questioned. If a lowcost
strategy is detected, for example, the extent to which it is based on economies of
scale and experience curve or any other organisational feature should be determined.

Competitors' strengths and weaknesses
Knowledge of the competitors' strengths and weaknesses is vital for strategy
formulation. It is important to attack where the enemy is weak and to build on your
own strengths. A competitor's position in the market can be identified by looking at its
strengths and weaknesses. The prescribed book identifies the following competitive
positions in the market:
- dominant
- strong
- favourable
- tenable
- weak
- non-viable

It is important to compare the competitors' strengths and weaknesses with those of
your organisation in terms of the key success factors of the industry. 

Forecasting likely response strategies
Anticipating the competitors' responses to any changes in the marketplace is the
hardest, yet most useful, part of the competitor analysis. Retail organisations need to
anticipate how competitors will react to uncontrolled changes in the macroenvironment.
These uncontrollable changes include fluctuations in exchange rates, an increase in international competition or a shortage in certain resources. Furthermore, retailers also need to anticipate the likelihood of competitors making aggressive moves.
SG pg 28-30


Study unit 6 - Internal analysis

1. Evaluate the mission statements of several companies in your area to see if they meet the criteria for a mission statement. 

The organisation's driving force is the mission statement, and this is therefore the best
place to begin with the internal identification of strategic internal factors. The
corporate mission is determined by what the organisation is and by what it does. The
mission must be reviewed during the internal analysis - in fact, it is often the mission
itself that is the goal of the internal analysis. A good mission statement should be
market-oriented, realistic, have a long-term orientation and stress corporate values.
The mission statement must be assessed in terms of the above criteria and, if found
lacking, then it must be changed.
SG pg 34

2. Discuss the five steps of the internal analysis process.

Step 1: Identify the primary organisational drivers.
Step 2: Conduct a thorough analysis of strengths and weaknesses, and identify key issues.
Step 3: Set organisational objectives to address the key issues
Step 4: Examine organisational resources and capabilities
Step 5: Conduct a gap analysis of the objectives and the organisational resources and capabilities.  
SG pg 34

3. Discuss how you would go about analysing internal resources and capabilities.








Study unit 7 - Identifying a sustainable competitive advantage (SCA)

1. Explain the need for a market strategy in an organisation

Today's organisations are faced with rapidly changing environmental conditions as well as increased competition. The complexity of managing these organisations has forced entrepreneurs to find methods to integrate different divisions and functional areas in the organisation. We can identify the following different levels of strategy in large organisations (as discussed in study unit 1):

- Corporate Strategy. This strategy is concerns the profitable management of all the various divisions and SBUs of the organisation.
- Business Strategy. This has to do with the managing a specific division or business unit which must contribute to achieving corporate objectives.
- Market Strategy. This is the marketing management's contribution to formulating the business strategy and represents the inputs (at top management level) about the internal and external marketing environments as well as joint decision making in the form of competitive and investment decisions. It is therefore a component of the business strategy, is market driven and represents the SBU's "total onslaught" on the market.
- Functional Strategy. This is the marketing strategy that is developed for each product or SBU. It entails selecting a specific target market and developing a marketing mix (comprising the 4 P's) for the selected target market.

2. Identify the components of a market strategy

A market strategy has several different components. They are:

- identifying possible sustainable competitive advantages
- competitive strategies
- investment strategies
- strategies for relationships with stakeholders 
- global strategies

3. Explain how possible SCA (Sustainable Competitive Advantages) can be identified

What is an SCA? An SCA is an advantage which an organisation has over its competitors that is difficult for the competitors to copy. By creating these SCAs, barricades against competitors can be established-making penetration into the market by competitors difficult. All the functional departments of an organisation must actively contribute to the development of an SCA by delivering superior value to the market. This superior value refers to the fact that the consumers of the product or service must be convinced that they are getting something of value for their money, while the protracted period means that the superior service must be delivered for long enough to allow the business to make a sustainable profit. 
		 	 	 							
If the organisation has achieved such a position and in the process realises a higher profit, we can say that it has attained SCA against its competitors. An SCA is therefore a position that an organisation has gained against its competitors in the marketplace. 
				
4. Discuss the prerequisites for establishing an SCA	
			
- The basis of competition: skills and assets :  Any strategy should be based on specific assets, skills and capabilities. Without this support, no competitive advantage will be sustainable. In general, for an asset to be the basis of an SCA, it should help to create either a cost advantage over competitors or a unique product difference. 

- Where you compete: product/market selection : The second important determinant of an SCA is the choice of target product/market. A well-defined strategy can fail because it is unworkable in the chosen marketplace. In other words, a strategy and its underlying assets and skills must be aimed at developing a product that is regarded highly by enough consumers in the product's potential market. 

- Who you compete against: competitor selection : The third prerequisite for establishing an SCA is the nature of the competition in the potential market. It is vital that the organisation assesses whether its competitors in the chosen target market are weak, average or strong in terms of the assets and skills they have. The goal is to follow a strategy where the organisation's strengths can be used to attack competitors' weaknesses. 

- The way you compete : This prerequisite encompasses the various strategies that the organisation uses to compete in its chosen target market. These strategies include the organisation's product strategy, positioning strategy, manufacturing strategy and even its distribution strategy. 
					
Organisations can only hope to achieve SCA when they have met these requirements. 
			
5. Discuss the SELECT framework
					
An SCA creates a basis for the organisation's superior performance and long-term survival in the marketplace, as well as value to the consumer. It is therefore important that the marketing manager understands the ways in which competitive advantage can be structured. To explain this, we use the SELECT framework.
					
The SELECT framework is an acronym for the six dimensions of a competitive advantage, namely:
					
· (1)  substance	
· (2)  expression	
· (3)  locality	
· (4)  effect	
· (5)  cause	
· (6)  time span 


Study unit 8 - Competitive Strategies

1. Explain the need for a competitive strategy for a retailer such as Pick n Pay									
Competition helps retailers to improve efficiency, reduce costs and improve customer choice which are all beneficial to business. However, keep in mind that competition also works constantly to erode profits, especially in more competitive industries. Competitive strategies are therefore essential to help a retailer to manage its competition. The competitive strategies that a retailer such as Pick n Pay can use to defend and maintain sustainable competitive advantage over its competitors are:

- The differentiation strategy
- The low-cost strategy
- The focus strategy
- The pre-emptive move
- Synergy

2. Discuss what is meant by a differentiation strategy, and the different methods of differentiating products and services NB June 2010 exam
Differentiation occurs when a retailer adapts its products or services in such a way that its customers view the products or services as different from those of its competitors and are therefore prepared to pay more for them.  
					
Ways in which a company could differentiate their products or services from those of competitors include:
					 							
· -  enhancing the performance of the service store staff provide.	
· -  offering guarantees on products sold.	
· -  introducing a toll-free number for clients to report any problems they have with products they purchase.	
· -  enhancing the convenience of the service offered by keeping the store open over long weekends and public holidays. 

· Options/methods for differentiating products and services from those of competitors: 

- Differentiation by brand. This is when a retailer uses a specific brand to create an image or personality for a product or store.
- Differentiation by unique product or store characteristics. These are product or store characteristics that make a product better than or different from those of competitors.
- Differentiation by distribution. New or unusual distribution channels (for example, online retailing) enable a retailer to create marketing opportunities. 
- Differentiation based on consumer orientation. Retailers try to differentiate themselves from competitors by being more consumer oriented. 

3. Explain how a computer retailer can use a low-cost strategy to achieve a competitive advantage. 
					
The competitive strategy the computer retailer could adopt is a low-cost strategy, whereby the retailer concentrates on lowering the cost of selling its products in the store. This strategy is also called a cost-leadership strategy because the retailer seeks a cost advantage over its competitors. The computer retailer could choose between two alternatives when implementing a low-cost strategy:
						
· -  lower margins/higher share (for example, the computer retailer could earn a larger share of the computer equipment market by having lower profit margin.
· -  lower costs/higher margins (for example, the computer company could lower the costs of acquiring products for the store and thereby attain a higher profit margin rather than a higher market share).

4. Discuss what is meant by a focus strategy NB Nov 2010 exam (17 marks)

Smaller retailers might not be able to compete in the manner they want because of strong competitive forces or a shortage of capital or human resources. A strategy that is suited to retailers in this position is the focus strategy, whereby a retailer focuses a limited product or service range on only one niche in the marketplace, with the aim of monopolising this segment or niche. The small retailer could use a focus strategy to gain competitive advantage in its chosen segment, but it might not achieve a competitive position in the market as a whole. 

5. Explain how a food retailer can use a pre-emptive move strategy to achieve a competitive advantage. NB Nov 2010 exam

A pre-emptive move or first-mover advantage is obtained when a strategy is implemented that is new to a business area and because it is the first, it generates a skill or an asset that competitors are inhibited or prevented from duplicating. The food retailer could,  for example adopt this competitive strategy, they might introduce a weekly customer training session in the store by showing them how to make cheaper, economical meals and grouping certain groceries together to make these budget specific meals with their own brands. By offering this service in his store, the food retailer will create a competitive advantage by being the first to introduce the service.
					
- Important requirements for a pre-emptive move
					
There are three important requirements a retailer such as Turbulent Waters must consider when implementing a pre-emptive strategy. These requirements are:
			 							
· 1.  "Being first'' requires some form of innovation by the retailer, which implies that the food retailer has to be prepared to take risks.
· 					
· 2.  A large number of resources are usually required, which could be risky.
· 
· 3.  The assumption is that the move will be difficult for competitors to copy. However, the strategy could fail if other food retailers also introduce customer education as part of their service. 
· 
6. What are the advantages a clothing retailer can get from using a follower strategy? 
						
As the name suggests, a retailer that adopts a follower strategy lets another retailer take all the initial risks (or make the pre-emptive move) while it watches closely to see what happens. If the clothing retailer decides to adopt this ``wait and see'' strategy, they could benefit from the following:
		 							
· - positioning mistakes which the first-mover retailer makes about the market's preferences and buying criteria
· -  product mistakes, including weaknesses in design, which are potentially the follower's opportunity to improve on the original product
· -  opportunities for follower retailers from marketing mistakes, such as inadequate distribution or advertising			 				
· - technological flexibility, which enables the follower retailer to introduce technologically superior products
· - limited resources of the first-mover retailer, which enables the follower retailer to outspend the competition
· 							
· When considering competitive strategies such as a pre-emptive move or the follower strategy, it is essential that the retailer understands its internal capabilities. If the clothing retailer for example feels that they have adequate financial and human resources, they might decide to adopt a pre-emptive move rather than a follower strategy. 

7. Discuss the various forms of business synergy

Synergy plays an important role when a retailer wants to achieve a sustainable advantage. The principle of synergy is that the whole is more than just the sum of its
parts. This is applicable to large retailers in that different SBUs could share human, financial, operational and R & D (research and development) resources to attain competitive advantages over other retailers.
					
(a) Types of synergy
					
After studying this section in your prescribed textbook, you should be able to discuss the different types of synergy:
	
-  shared know-how
· -  shared tangible resources
· -  pooled negotiation power
· -  coordinated strategies
· -  vertical integration
· -  combined business creation 

 				
Study unit 9 - Strategies in the product life cycle

1. Discuss the major phases of the product life cycle and provide appropriate examples. 

Introductory Phase
The introductory phase has the following characteristics:
·         Usually relatively low initial sales
·         Customer resistance to new (unknown) products
·         High marketing costs
·         Few distribution channels
·         High manufacturing costs and production problems
·         Very few competitors in the market
·         Low profit levels (if any)
·         Price determined by nature of product
 
Growth Phase
The growth phase is the 2nd phase in the product’s life cycle and marks an increase in sales of the product as the product is now known to potential consumers and there is increased spending on promotion.
Characteristics of the growth phase are the following:
·         Strong growth in sales
·         Increase in number of competitors
·         Product improvements
·         Increase in the number of intermediaries
·         A rapid increase in profits
·         Lowering of prices (where necessary)
 
Maturity Phase
During the maturity phase, the sales growth of the product continues to increase albeit at a slower rate. Eventually sales start to level off. This phase will involve the introduction of product improvements and additional incentives will be granted to intermediaries with the aim of increasing and sustaining sales.
In the maturity phase the following characteristics can be identified:
·         Levelling off of sales growth
·         Increased level of competition (saturated)
·         Lowering of prices
·         Increased market cost to maintain position
·         Declining profits
·         Product differentiation and modification
 
Decline Phase
In this phase, the product sales start to decline and the organisation is faced with long-term decisions about the product’s future. Here management has to decide on whether to revive the product by introducing a new and aggressive marketing campaign or to withdraw the product from the market altogether.
The following characteristics of the declining phase can be identified:
·         Rapid and permanent decline in sales
·         Decline in market size
·         Declining profits
·         Decrease in competitor numbers
·         Decisions by management on whether to withdraw or harvest the product
·         Reduction and elimination of product promotion


2. Differentiate between the pre-emptive move and the follower move.

The pre-emptive move
It involves being first to market.

Timing of the pre-emptive move
The importance of when to make a strategic move, is almost as important as what move to make.

Marketing implication of a pre-emptive move
The following are the advantages of a pre-emptive move:
· reputation of the organisation
· position the organisation in a favourable spot
· switching costs that are involved
· improved channel choices
· possible cost advantage
· favourable access to facilities, inputs or other scarce resources
· setting standards for technology
· barriers of imitation against competitors
· possibility of early profits



The follower strategy
The follower move occurs when the company is not the first to market a product but merely follows other companies. Normally, follower companies do not want to take the risk of
marketing a new product. When a company decides to introduce a new product, the
marketing manager has to do a lot of work to introduce this new product to the
market.

3. Briefly explain what is meant by time-based competition and how an organisation can speed up its product development times

When you study this section in your prescribed book, note that the factors that will
speed up the organisation's response to the market, which are:
· shorter product life cycles
· profits from new products
· more competition in growth markets
· rampant copying
· speeding up innovation in an organisation

The following methods for speeding up an organisation's process of innovating new
products have been identified:
· focus on technology
· product development
· market development

4. Describe the market strategies in mature and declining markets

Strategies in the maturity phase
In the maturity phase, the growth levels off because of saturated market penetration.
The following strategies can be followed:
o   Retain the existing marketing strategy
o   Retain the current product and revise other marketing instruments
o   Change all the marketing instruments
o   Introduce product differentiation
o   Extend product range
o   Modify marketing instruments
 
Strategies in the declining phase
During the decline phase of the product life cycle, the major objective of the company is to reduce costs and brand expenditure to milk the product for as much revenue and profit as possible.
Management is faced with several options:
o   Withdrawing marketing support and leaving the product to run its course naturally
o   Eliminating the product
o   Phased withdrawal
o   Selling or contracting out
 
Three major strategies can be considered:
o   Continue with the existing marketing strategy
o   Revise the existing marketing strategy partly or entirely
o   Withdraw the products from all markets

Study unit 10 - Strategies for building relationships with key stakeholders

1. Explain the concept of customer bonding with the aid of the ladder of loyalty. 
NB

The ladder of loyalty demonstrates how the organization's relationship with customers changes as they move up the ladder of loyalty. 

partner: Someone who has the relationship of a partner with you
advocate: Someone who actively recommends you to others, who does your
marketing for you
supporter: Someone who likes your organisation, but only supports you passively
client: Someone who has done business with you on a repeat basis, but may be
negative, or at best neutral, towards your organisation
purchaser: Someone who has done business just once with your organisation
prospect: Someone whom you believe may be persuaded to do business with you

2. Discuss the characteristics of relationships.
Cant find this one ;(

3. Discuss the four parties with whom the organisation can build relationships.
			
Many people think that relationship marketing concerns only the relationship between a business and the end-customer. While this has been the focus of CRM thus far, a business also has to look at its relationships with other stakeholders. These stakeholders include employees, suppliers, competitors, co- venture partners and strategic alliances. 

1.Relations with environmental stakeholders

Owing to environmentalism and global warming, the protection of the environment has become a very important issue for all organisations. Members of the public are also more aware than ever of the importance of preserving the limited resources of the environment. This places pressure on organisations to get involved in conservation efforts.

2. Community Relations
Organisations are beginning to realise that the communities in which they operate are important stakeholders and that they should ensure that they have sound relationships with them, because this will lead to loyalty to the organisation. The communities should be kept informed about aspects such as corporate citizenship, for example, employees should also be treated fairly and business practices should be environmentally safe.
The King II Report on Corporate Governance for South Africa and the Community Advisory Panel provide guidelines for becoming involved in the community.
 
3. Government, local authorities and regulatory bodies
For various reasons (eg negative perceptions of government) managers often do not explore the full potential of sound government relations and the advantages that these might create. The following guidelines could be followed by businesses wanting to become actively involved in a relationship with government:
-Find a consultant who specialises in related issues.
- Make use of trade associations.
 - Subscribe to newsletters
.- Be aware of government regulations and legislation.
4. Relations with the press
It is vitally important that organisations build relations with the press as they are a powerful tool when trying to build a positive public image, and can also have a strong influence on members of the public. Organisations that do not have their own public relations practitioners often make use of an external organisation or consultancy to assist them.
 
Study unit 11 - Strategic Marketing Planning				
					
Discuss each step of the strategic marketing planning process in detail. 
					
Strategic marketing planning is a detailed analytical and applied set of activities whereby an organisation determines the best way to implement marketing strategies. Understanding the role of strategic marketing planning in strategy development is complicated because of the nature of the organisation. There are differences in the roles of marketing management in the following:

-  an organisation that markets only one product in a single market
· -  an organisation that markets a range of products in numerous markets
· -  an organisation that comprises a number of organisations/divisions 
						
· These steps are:
· 							
· Step 1:Corporate mission, objectives and strategies: Setting objectives: The first step involves determining  what the organisation what the organisation’s long- and short- term objectives are. The strategy that is developed will try to accomplish these objectives.
· 
· Step 2: Strategic analysis: Evaluating the organisation’s environments: The organisation’s internal and external environment will be analysed at this stage. A review of all aspects of the organisation must be done. This includes analysing the competitors, the market itself, suppliers, distribution channels etc. 
· 
· Step 3:SWOT analysis: Strengths, Weaknesses, Opportunities, Threats: The SWOT analysis provides information about the organisation’s strengths and weaknesses in relation to the opportunities and threats. The SWOT analysis helps the organisation to build on its strengths, turn its weakness into strengths, maximise and take full advantage of the opportunities, and overcome threats.

· Step 4:Marketing objectives: Setting targets: At this stage the organisation sets quantitative targets that can later be measured. The organisation is then able to determine and analyse the contributions that were made by the different departments, products or customers. Once they have been identified, the organisation develops a strategic plan for each subunit.
· 
· Step 5:Market strategies: Performance analysis: During this stage, an analysis is done of the organisation’s past, present, and desired future performance. This is done to identify any gaps that occur between the organisation’s present and planned estimated performance, and also to plan and estimate the future conditions of the organisation based on current market trends. This involves using competitive advantage, competitive strategies, global strategies, relationship-building strategies, brand strategies, and brand and equity strategies.
· 
· Step 6:Marketing strategy: Choosing a strategy: The strategic alternatives refer to the different courses of action that the organisation can use. There are various methods used to generate alternatives strategies for the organisation, such as brainstorming, meetings with managers, acquiring the assistance of consultants to help generate alternatives. Timely evaluations of the business strategy can alert managers to problems that they did not know about or potential problems that may arise. The purpose of the evaluation is to determine and appraise the effectiveness of the strategy. This step involves marketing strategies, namely target markets, positioning, and the marketing value mix.
· 
· Step 7:Implementation and control: Choice of strategy: Choosing the correct strategy for the organisation is important, as the strategy must be compatible with the business objectives and it must be able to carry out the organisation’s goals. There are a couple factors to consider when choosing the correct strategy: Corporate governance, past strategies, external factors, the organisation’s attitude towards risk, attitudes and personalities of managers, the strategy must align with the organisation’s mission, vision, goals and objectives, correct timing. 

Study unit 12 - Strategy Implementation and control

1. Explain the importance and effectiveness of strategy implementation 
	
Strategy implementation is often called "the action stage of strategic management'', since it requires mobilising managers and employees on all levels of the organisation to convert a formulated strategy into action and results.
						
Effective implementation of a strategy involves:
						
- creating an organisational structure with the capabilities, competencies and resources required to effectively implement the strategy.
- developing budgets to ensure that resources are allocated for strategic  success		
-  establishing strategy-supportive policies and procedures
-  implementing best practices and continuous improvement to support the implementation of strategy
- creating and implanting organisational systems that enable employees to	effectively execute their strategic roles
- aligning rewards and incentives with the achievement of individual and organisational objectives
- creating an organisational culture aligned with the strategy of the organisation
- practicing strategic leadership that is biased towards the effective implementation strategy.

Strategic planning is regarded as one of the keys to improved business performance. 

Effective strategy formulation involves the following:
· 				 							
· -  During the formulation stage, broad-based inputs and participation are required.
	 -  The barriers to implementation must be recognised.					
· -  Movement across all the implementation pillars must be orchestrated.
· -  The strategy must be promoted.
· -  The strategy must be fine-tuned, adjusted and responded to as events and trends arise. 

2. Discuss the barriers to effective strategy implementation 

The main barriers to effective strategy implementation include the following:
			 							
· -  The workforce has a poor understanding of the strategy.
· -  The workforce's goals and incentives are not aligned with the strategy.
· -  The resource allocation is not aligned with the strategy.
· -  Lack of human capital development.
· -  There is inability to manage change.
· -  Ineffective control and feedback mechanisms. 
· 						
3. Discuss the drivers of strategy implementation 
					
The drivers of strategy implementation include:
	
-  creating an organisational structure with the capabilities, competencies and resources required to effectively implement strategies
-  developing budgets to ensure that resources are allocated for strategic success
- practicing strategic leadership that is biased towards the effective implementation of strategies			
-  creating an organisational culture that is aligned with the strategies of the organisation
- aligning rewards and incentives with the achievement of individual and organisational      objectives 
· 						
4. Discuss the keys to successful strategy implementation 
					
The keys to the successful implementation of a strategy include:
	
-  communication and coordination, such as a focus on the importance of teamwork
-  resourcing, such as ensuring that the organisational capabilities are aligned with the strategy
- leadership and management, such as an effective top management team
[bookmark: _GoBack]-  getting to grips with increasing complexity, such as planning for potential competitor reactions to a strategy.		


